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1647 ING EHRT R7.5.2|5t = [ [pkEX [#990cm [#940kg [R7.5.13 [[2l*
1648 =&8Fh R7.6.2[3m% [#  [EEt |$970cm [#925kg [R7.6.10 [[EME
1649 E8Fh R7.6.4/H¥%E [ [mE [$5100cm [#940kg [R7.6.10 [FEME
1650 LR R7.6.4[3%E [M  [EEt |$985cm [#940kg [R7.6.10 [[EME
1651 2 E 2] R7.6.4|fE%E [ [pKEX [#970cm [§920kg [R7.6.10 [[ET*
1652 H&ET R7.6.4|#%E [#f  [AKER [$9110cm |$950kg  |R7.6.10 [F214&
1653 HEaH R7.6.4/H¥%E [ [mEt [$5130cm [$980kg [R7.6.10 [FEME
1654 HL&EH R7.6.4|f% [  |pkEK |#3125cm [#980kg |R7.6.10 [FE14E
1655 =2 R7.65|3ET= [  [mEk [%95100cm [$#945kg [R7.6.10 [FEtE
1656 LR R7.6.9|#%E [#f  [AKEL [#9110cm |$960kg |R7.6.24 [[214%
1657 IR R7.6.15/4¥%E [#F [mEk [$95105cm [#925ke [R7.6.24 [fEtE
1658 =i R7.6.17[3m% [##  [E&k [|$990cm [#925kg [R7.6.24 [[51454
1659 #E)I1 BT R7.6.18|4¥E [#F [mEk [%95130cm [#335ke [R7.6.24 [fEtE
1660 H&EH R7.6.18[3m¥% [#  [m&k [|$9110cm [#970kg [R7.6.24 [[EME
1661 ST R7.6.20[4% [ [mEk [%975cm [#940kg [R7.6.24 [fEME
1662 St R7.6.21|fH% [  |pkEX [$980cm [#945kg |R7.6.24 [f&%
1663 ST R7.6.24|fH% [Hf  |AkEK  |$992cm |§920kg |R7.7.1 =
1664 (=L /N1 R7.6.25|fH% [#f  |AkEX  |%980cm |#930kg |R7.7.1 =
1665 St R7.6.28|fH%E [#f  |AkEK  |#980cm |§940kg |R7.7.1 =
1666 S R7.7.6|¥H% [ |AkEK  1%995cm |#920kg |R7.7.8 =%
1667 ZREERET R7.74|H¥E [t  [mEk [§$5126cm [#75ke [R7.7.15 [FEME
1668 ™ R7.7.43% [##  [EEt |$995cm [#935kg [R7.7.15 [[EME
1669 SHhETH R7.79|4¥E [#F  [mEk [§5110cm [$935kg [R7.7.15 [FEME
1670] ZE=@Ft R7.7.8|#%E [  [skEX [$#980cm [#330kg |R7.7.15 [f24
1671 i R7.79[5H%E [  [4E [#55cm [$98kg [R7.7.15 [FEEM
1672 ]I HT R7.7.10[3m% [  [m&k |$9115cm [$#936kg [R7.7.15 [[EME
1673 =Nl R7.7.13[fE%E [  [pkER [$9125cm [$960kg [R7.7.15 [[ET®
1674 NG EHET R7.6.30|fH% |[#  |pkEX [$980cm [#924kg |R7.7.15 [f&M
1675 T BT R7.7.1{E% [M  [AkEK  [$980cm [$917ke [R7.7.15 [P2tE
1676 NG EHT R7.6.30[3m¥ [#  [m&k |$9120cm [#975kg [R7.7.15 [[EME
1677 NG BT R7.7.2|4¥E [#F  [mEk [%985cm [#927kg [R7.7.15 [FEME
1678 NG EHT R7.7.43%E (M [mEt |$980cm [#920kg [R7.7.15 [[EME
1679 + FEHT R7.76|H¥%E [t [mEk [$5120cm [#70ke [R7.7.15 [FEME
1680 NG EHT R7.7.7|#%E [ [skEX [#9115cm |$960kg  |R7.7.15 [f214&
1681 /NS EMT R1.7.7[5E%E (M [HE [$390cm [#330kg [R7.7.15 [IEM
1682 NG EHT R7.7.73m% [#  [#h8k |$950cm [#94kg [R7.7.15 [[EME
1683 + FEHT R7.7.8[3m¥E [#f  [mE |$9590cm [$926kg [R7.7.15 [[51455
1684 NG EHET R7.7.9[3% [#  [EEt |$980cm [#940kg [R7.7.15 [[EME
1685 + FEHT R7.79[5H%E (M  [HEX [$80cm [#926kg [R7.7.15 [FEEME
1686 R ™ R7.7.13|fH% [#  |pkEX [$990cm [#350kg |R7.7.22 [f&%
1687 =T R7.7.14[18% |  |AER  [#970cm |$935keg [R7.7.22 [[21%
1688 St R7.7.14|fH% [#  [pkEX [$990cm [$#927kg |R7.7.15 &M
1689 ST R7.7.15|4%E [#F  [mEk [#5110cm [#950ke [R7.7.22 [fEME
1690 St R7.7.15|fH% [  [pkEX [$5100cm [$922kg |R7.7.22 [f&%
1691 A R7.7.16/¥%E [ [mEk [%#965cm [#330kg [R7.7.22 [fEtE
1692 SHhETh R7.717[3m% [#  [m&k |$9110cm [#940kg [R7.7.22 [[EME
1693 =N R7.7.18|%E% [ [EKEX [#976cm [$927kg |R7.7.22 [FET®




1694 SHhET R7.7.19|H%E [ [HE [112cm [$950ke [R7.7.22 [FEME
1695 S R7.7.19|#%& [  [BEX [FHH #135kg |R7.7.22 [faE




